
  

  

 

U.G. DEGREE EXAMINATION -  
FEBRUARY, 2023 

Commerce 

First Semester 

BUSINESS MANAGEMENT 

Time : 3 hours Maximum marks : 70 

PART A — (3 × 3 = 9 marks) 
Answer any THREE questions out of Five questions in 

100 words 
All questions carry equal marks. 

1. What do you mean by unity of command? 
 PmhøÍ Gß£uß ö£õ¸Ò GßÚ? 

2. Write a note on long term planning. 
 }sh Põ» vmhªhÀ £ØÔ¯ SÔ¨ø£ GÊx[PÒ. 

3. What is meant by informal organization? 
 •øÓ\õμõ Aø©¨¦ GßÓõÀ GßÚ? 

4. State the elements of control. 
 Pmk£õmk TÖPøÍ ÂÍUPÄ®. 

5. Mention the needs for co-ordination. 
 J¸[Qøn¨¦UPõÚ ÷uøÁPøÍ SÔ¨¤hÄ®.  
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PART B — (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions in 
200 words. 

All questions carry equal marks. 

6. Explain the nature of management. 
 {ºÁõPzvß ußø©ø¯ ÂÍUS[PÒ. 

7. What are the characteristics of Decision- making? 
 •iöÁkUS® ußø©°øÚ ÂÍUPÄ®. 

8. Explain the importance of organization. 
 Aø©¨¤ß •UQ¯zxÁzøu ÂÍUS[PÒ. 

9. State the requisites of effective co-ordination. 
 £¯ÝÒÍ J¸[Qøn¨¤ß ÷uøÁPøÍ 

SÔ¨¤hÄ®. 

10. Explain the purpose of direction. 
 ÁÈPõmku¼ß ÷|õUPzøu ÂÍUS[PÒ. 

PART C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 
500 words. 

All questions carry equal marks. 

11. Discuss the functions of management. 
 {ºÁõPzvß ö\¯À£õk £ØÔ ÂÁõvUPÄ®. 
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12. What are the steps involved in the process of 
Planning? 

 vmhªhÀ ö\¯À£õmiÀ EÒÍ £iPÒ GßÚ? 

13. Explain the various factors that determine span of 
supervision. 

 ÷©Ø£õºøÁ°ß Põ» AÍøÁ wº©õÛUS® £À÷ÁÖ 
PõμoPøÍ ÂÍUPÄ®. 

14. Explain the various methods of securing effective 
coordination. 

 £¯ÝÒÍ J¸[Qøn¨ø£ £õxPõ¨£uØPõÚ 
£À÷ÁÖ •øÓPøÍ ÂÍUS[PÒ. 

15. Discuss the factors determining basis for 
departmentation. 

 xøÓUPõÚ Ai¨£øhø¯ {ºn°US® PõμoPøÍ 
£ØÔ ÂÁõvUPÄ®. 

16. Discuss the general principles of management 
given by Henry Fayol. 

 öíßÔ £÷¯õ¼ß {ºÁõPzvß ö£õxÁõÚ 
öPõÒøPPøÍ £ØÔ ÂÁõvUPÄ®.  

17. Enumerate the steps to make planning effective. 
 vmhªhø» vÓ®£h ö\´ÁuØPõÚ £iPøÍ 

£mi¯¼hÄ®. 

—————— 



  

 

 

U.G. DEGREE EXAMINATION —  
FEBRUARY 2023 

Commerce 

First Semester 

FINANCIAL ACCOUNTING 

Time : 3 hours Maximum marks : 70 

PART A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions  
in 100 words. 

All questions carry equal marks. 

1. Explain the purpose of preparation of final accounts. 
 CÖvU PnUSPøÍz u¯õ›¨£uØPõÚ ÷|õUPzvøÚ 

ÂÍUSP. 

2. X purchased machinery under hire – purchase 
agreement from Y. The cash price of the 
machinery was Rs. 15,500. The payment was 
made as follows :  

 Rs. 

On signing the agreement 3,000 

I year end 5,000 
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 Rs. 

II year end 5,000 

III year end 5,000 

 Calculate interest for each year. 
 X Gß£Áº Y°hª¸¢x öPõÒ•uÀ J¨£¢uzvß£i  

J¸ C¯¢vμzøu ÁõhøPUS Áõ[SQÓõº. 
C¯¢vμzvß öμõUP Âø» ¹.15,500. ¤ßÁ¸©õÖ 
£n® ö\¾zu¨£iß Auß Ámiø¯ JÆöÁõ¸ 
BsiØS® PnUQkP. 

 ¹. 

J¨£¢u® øPö¯õ¨£ªmh ÷£õx 3,000

•uÀ Bsiß •iÂÀ 5,000

Cμshõ® Bsiß •iÂÀ 5,000

‰ßÓõ©õsk •iÂÀ  5,000

3. Ramu owned to Krishna Rs. 12,000 on 1.1.2009 on 
the same date Krishna drew upon Ramu a bill for 
the amount at 2 months and Ramu returned the 
bill duly accepted. Krishna got the bill discounted 
at his bank at 6% pa. Before the bill was due for 
payments Ramu told Krishna that he was not able 
to pay the full amount and requested Krishna to 
accept Rs. 4,500 immediately and draw upon him 
another bill for the remaining amount for two 
months together with interest at 8% p.a. Krishna 
agreed. The second bill was duly met. Give journal 
entries in the books of Ramu and Krishna. 
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 μõ• Q¸ènõÂh® 12,000 ¹£õø¯ 1.1.2009 
AßÖ ö£ÖQÓõº. A÷u ÷uv°À Q¸ènõ 
μõ•Âh® 2 ©õu[PÎÀ öuõøPUPõÚ ¤Àø» 
GkUQÓõº. μõ• Aøu •øÓ¯õP HØÖU öPõshõº. 
Q¸ènõ uÚx Á[Q°À BskUS 6% uÒÐ£i 
ö£ØÓõº. ¤À PmkÁuØS •ß, μõ• Q¸ènõÂh® 
¹.4,500I EhÚi¯õP ö\¾zv, «vz öuõøPUS 
Cμsk ©õu[PÎÀ BskUS 8% Ámi²hß 
÷\ºzxU Pmh J¨¦U öPõshõº. CμshõÁx ¤À 
•øÓ¯õP Á`¼UP¨£mhx. CÁØøÓ μõ• ©ØÖ® 
Q¸ènõÂß SÔ¨÷£miÀ £vÄ ö\´P. 

4. Mention the different methods of changing 
depreciation. 

 ©õÔÁ¸® ©v¨¤Ç¨¦ •øÓPøÍU SÔ¨¤kP. 

5. What is Receipts and Payments Account? What 
are its features? 

 Á¸©õÚ® ©ØÖ® öPõk¨£ÚÄU PnUS GßÓõÀ 
GßÚ? Auß A®\[PÒ ¯õøÁ? 

PART B —  (3 × 7 = 21 marks) 

Answer any THREE questions out of Five  
questions in 200 words. 

All questions carry equal marks. 

6. Explain the scope of accounting. 

 PnUQ¯¼ß ÷|õUPzøu ÂÍUPÄ®. 
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7. From the following balances as at 31st December 
1994 of a trader. Prepare a trading and profit and 
loss A/c for the year 1994 and a balance sheet as 
on the date :  

 Rs.  Rs.

Salaries 5,500 Creditors 9,500

Rent 1,300 Sales 32,000

Cash 1,000 Capital 30,000

Debtors 40,000 Loans 10,000

Trade expenses 600   

Purchases 25,000   

Advances 2,500   

Bank balance 5,600   

 81,500  81,500

 Adjustments: 

 (a) The closing stock amounted to Rs. 9,000 

 (b) One month’s salary is outstanding 

 (c) One month’s rent has been paid in advance. 

 (d) Provide 5 percent for doubtful debts. 
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 ¤ßÁ¸® C¸¨¦ PnUQ¼¸¢x 

J¸ ÁºzuP›ß 31 i\®£º 1994 B® BsiØPõÚ 
ÁºzuP® ©ØÖ® »õ£ |èh® PnUS ©ØÖ® 
C¸¨¦{ø»U SÔ¨ø£ u¯õº ö\´¯Ä®. 

 
 ¹.  ¹.
\®£Í® 5,500 PhÜ¢÷uõº 9,500
ÁõhøP 1,300 ÂØ£øÚ 32,000
öμõUP® 1,000 ‰»uÚ® 30,000
PhÚõÎPÒ 40,000 Phß 10,000
ÁºzuP ö\»Ä 600   
öPõÒ•uÀ 25,000   
•ß£n® 2,500   
Á[Q°¸¨¦ 5,600   
 81,500  81,500

 \›PmkuÀPÒ : 

 (A) CÖv £[S øP°¸¨¦ ¹.9,000 

 (B) J¸ ©õu \®£Í® {¾øÁ°À EÒÍx. 

 (C) J¸ ©õu ÁõhøP •ßTmi÷¯ 
ö\¾zu¨£mkÒÍx. 

 (D) \¢÷uPzvØQh©õÚ PhßPÐUS 5 \uÃu® 
ÁÇ[P ÷Ásk®. 

8. An asset is purchased for Rs. 50,000. Depreciation 
is to be provided annually according to the 
straight line method. The useful life of asset is  
10 years and the residual value is Rs. 10,000. You 
are required to find out the rate of depreciation. 
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 J¸ ö\õzx ¹.50,000 Áõ[P¨£kQÓx. ÷|º÷Põmk 
•øÓ°ß£i ÷u´©õÚ® Bsk÷uõÖ® ÁÇ[P¨£h 
÷Ásk®. 

 ö\õzvß £¯ÝÒÍ B²mPõ»® 10 BskPÒ 
©ØÖ® Gg]¯ ©v¨¦ ¹.10,000 BS®. 
÷u´©õÚzvß ÂQuzøu PshÔ¯ ÷Ásk®. 

9. Mr. P purchased 4 cars of Rs. 14,000 each on 
1.1.92 under the hire purchase system. The hire 
purchase price for all the 4 cars was Rs. 60,000 to 
be paid as Rs. 15,000 down payment and 3 equal 
instalments of Rs. 15,000 each at the end of each 
year. Interest is charged at 5% pa. The buyer 
depreciates the car at 10% p.a. on straight line 
method. From the above particulars give relevant 
A/c s in the books of Mr. P. 

 v¸.¤ ÁõhøP öPõÒ•uÀ •øÓ°ß RÌ 1.1.92 
AßÖ u»õ ¹.14,000 ©v¨¦ÒÍ 4 PõºPøÍ 
Áõ[QÚõº. AøÚzx ¦PõºPÐUS ÁõhøPUS 
Áõ[Q¯ Bμ®£ uÁøn ¹.15,000 ©ØÖ® 
JÆöÁõ¸ Á¸hzvß CÖv°À u»õ ¹.15,000 Ãu® 
3 \© uÁøn¯õÚ ¹.60,000 ö\¾zu ÷Ásk®. 
BskUS 5% Ámi Á`¼UP¨£kQÓx. Áõ[S£Áº 
Põ›ß ©v¨ø£ Á¸hzvØS 10% ÷u´©õÚ©õP 
SøÓUQÓõº. ÷|º÷Põk •øÓ°À ÷©ØTÔ¯ 
ÂÁμ[PÎ¼¸¢x v¸.¤ ¦zuPzvÀ öuõhº¦øh¯ 
PnUøP u¯õ›UPÄ®. 
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10. Prepare a Bank Reconciliation Statement from the 
following particulars: 

 (a) Bank balance as per Pass Book Rs. 10,000. 

(b) Cheque deposited into the bank but no entry 
was passed in the cash book Rs. 500. 

 (c) Cheques received but not sent to bank 
Rs.1,200. 

 (d) Credit side of the bank column cast short  
Rs. 200. 

 (e) Insurance premium paid directly by the bank 
understanding advice Rs. 600. 

  (f) Bank charges entered twice in the cash book 
Rs. 20. 

  (g) Cheque issued but not presented to the bank 
for payment Rs. 500. 

 (h) Cheque received entered twice in the cash 
book Rs. 1,000. 

 (i) Bills discounted not recorded in the Cash 
book Rs. 5,000. 
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 ¤ßÁ¸® ÂÁμ[PÎÀ C¸¢x Á[Q \©μ\ 
AÔUøPø¯z u¯õ›UPÄ®. 

 (A) Á[Q PnUS ¦zuP C¸¨¦ ¹.10,000 

 (B) Põ÷\õø» Á[Q°À øÁ¨¦ {v¯õP 
øÁUP¨£mhx. BÚõÀ öμõUP¨ ¦zuPzvÀ 
¹.500 £vÄ ö\´¯¨£hÂÀø». 

 (C) Põ÷\õø»PÒ ö£Ó¨£mhÚ. BÚõÀ Á[QUS 
¹.1,200 AÝ¨£¨£hÂÀø». 

 (D) Á[Q ö|kÁ›ø\°ß Phß £UP® ¹.200 

 (E) Á[Q ‰»® ÷|μi¯õP ö\¾zu¨£k® 
Põ¨¥mk uÁønz öuõøP ¹.600. 

 (F) öμõUP¨ ¦zuPzvÀ ¹.20 C¸•øÓ £vÄ 
ö\´¯¨£mhÚ. 

 (G) Põ÷\õø» ÁÇ[P¨£mhx. BÚõÀ ¹.500 
ö\¾zu Á[Q°À ÁÇ[P¨£hÂÀø». 

 (H) ö£Ó¨£mh Põ÷\õø» öμõUP ¦zuPzvÀ 
¹.1,000 C¸•øÓ £vÄ ö\´¯¨£mhx. 

 (I) ¹.5,000 öμõUP ¦zuPzvÀ £vÄ ö\´¯¨£hõu 
Pmhn® uÒÐ£i ö\´¯¨£mhÚ. 

PART C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 
500 words. 

All questions carry equal marks. 

11. Discuss the accounting standards in India. 

 C¢v¯õÂÀ EÒÍ PnUQ¯À uμ[PøÍ 
ÂÁõvUPÄ®. 
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12. The following Trial Balance of Arun as at 31.12.08 
is given to you. Prepare final a/c. 

Trial Balance  
 Rs.  Rs. 

Opening Stock 15,500 Capital 90,000

Land and building 35,000 Creditors 9,600

Machinery 50,000 Purchase returns 2,100

Furniture 5,000 Sundry Income 1,200

Purchases 1,06,000 Reserve for bad debts 300

Salaries 11,000 Sales 2,07,000

General expenses 2,500  

Rent 3,000  

Postage 1,400  

Stationery 1,300  

Wages 26,000  

Freight on purchases 2,800  

Carriage on sales 4,000  

Repairs 4,500  

Debtors 30,000  

Bed debts 600  

Cash 100  

Bank 6,400  

Sales return 5,100  

 3,10,200  3,10,200
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 Adjustments: 

 (a) Closing stock Rs. 14,900. 

 (b) Wages outstanding Rs. 2,100. 

 (c) Depreciate land and buildings 2%, 

machinery 10%. 

 (d)  Provision of 5% on debtors for bad debts 

required. 

 (e) Included in general expenses is insurance 

premium, Rs. 600 paid for the year ending 

31st March 2005. 

 31.12.2008 BsiØPõÚ v¸.A¸oß ÷\õuøÚ 
C¸¨¦ u¯õ›¨£uØPõÚ ÂÁμ[PÒ 
öPõkUP¨£mkÒÍx CÖv PnUQøÚ u¯õ›UP. 

C¸¨¦ {ø»U SÔ¨¦ 
 ¹.  ¹. 

öuõhUP {ø» C¸¨¦ 15,500 ‰»uÚ® 90,000

{»® ©ØÖ® Pmih® 35,000 PhÜ¢÷uõº 9,600

G¢vμ® 50,000 öPõÒ•uÀ v¸®£ 
öPõkUP¨£mhx 

2,100

uÍÁõh[PÒ 5,000 £À÷ÁÖ Á¸©õÚ® 1,200

öPõÒ•uÀ  1,06,000 ÁμõUPhÝUPõÚ {v 
JxURk 

300

\®£Í® 11,000 ÂØ£øÚ 2,07,000

ö£õx ö\»ÄPÒ 2,500  

ÁõhøP 3,000  
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 ¹.  ¹. 

u£õÀ ö\»Ä 1,400  

GÊxö£õ¸Ò ö\»Ä 1,300  

T¼ 26,000  

\μUS «x öPõÒ•uÀ 
ÂØ£øÚ 

2,800  

÷£õUSÁμzvØPõÚ 
ö\»Ä 

4,000  

¦x¨¤zu¾UPõÚ 
ö\»Ä 

4,500  

PhÚõÎPÒ 30,000  

ÁμõUPhß 600  

öμõUP® 100  

Á[Q°¸¨¦ 6,400  

ÂØ£øÚ v¸®£ 
ö£Ó¨£mhx. 

5,100  

 3,10,200  3,10,200

 \›PmkuÀPÒ : 

 (A) CÖv \μUQ¸¨¦ ¹.14,900 

 (B) öPõkUP¨£h ÷Ási¯ T¼ ¹.2,100 

 (C) {»® ©ØÖ® Pmih® «x 2%, ö£õÔ «x 10% 

 (E) PhÚõÎPÒ «x 5% ÁμõUPhß Põ¨¦ HØ£kzu 
÷Ásk®. 

 (F) 31 ©õºa 2005 ÷uv²hß •iÁøh²® 
BskUPõÚ Põ¨¥mk •øÚ©® 600 ö£õxa 
ö\»ÄPÎÀ ÷\º¢xÒÍx. 
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13. On 1-1-94, a machinery was purchased for  

Rs. 80,000. On 1-1-95 additions were made to the 

amount of Rs. 40,000. On 31-3-96, Machinery 

purchased on 1-1-95 costing Rs. 12,000 was sold 

for Rs. 11,000 and on 30-6-96, Machinery 

purchased on 1-1-94 costing Rs. 32,000 was sold 

for Rs. 26,700. On 1-10-96 additions were made to 

the amount of Rs. 20,000. Depreciation was 

provided at 10% pa. on the diminishing balance 

method. Show the machinery account for three 

years from 1994 to 1996. (Books closed on  

31st December every year). 

 1.1.94 AßÖ J¸ C¯¢vμ® ¹.80,000 
Áõ[P¨£mhx. 1.1.95 AßÖ ¹.40,000 Tku»õPa 
ö\´¯¨£mhx. 31.3.96 AßÖ 1.1.95 AßÖ 
¹.12,000US Áõ[P¨£mh C¯¢vμ[PÒ, 
¹.11,000US ÂØP¨£mhÚ ©ØÖ® 30.6.96 AßÖ 
C¯¢vμ[PÒ Áõ[P¨£mhÚ. 1.1.94 AßÖ 
¹.32,000 Âø» EÒÍ C¯¢vμ® ¹.26,700US 
ÂØP¨£mhx. 1.10.96 AßÖ ¹.20,000 öuõøPUS 
Tku»õP ÷\ºUP¨£mhx. ÷u´©õÚ® BskUS 
10% ÁÇ[P¨£mhx. 1994 •uÀ 1996 Áøμ°»õÚ 
‰ßÖ BskUPÐUPõÚ C¯¢vμU PnUøP 
Põmk[PÒ. C¸¨¦ SøÓ²® •øÓø¯ PnUQÀ 
ÂÍUPÄ®. 
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14. The following is the Receipt and payments 
statement of the Chennai Sports Club for the year 
ended 31st December 2007:  

Debit Rs. Credit Rs. 
To Balance (1.1.07) 2,400 By Salary 5,700
To Entrance Fees 500 By Wages of 

Groundsmen 
2,400

To Subscriptions 8,700 By Rent 150
To Proceeds of 
Tournament 

1,500 By Printing and 
Postage 

200

To Interest on 
Investment 

500 By Repairs 175

  By Balance 
(31.12.07) 

4,975

 13,600  13,600

 Other Informations: Subscription includes 
outstanding subscriptions of 2006 Rs. 500 
collected in the current year. Wages of groundmen 
includes Rs. 150 applicable to the previous year 
other ledger balance on 1.1.07 were Capital Fund  
Rs. 49,000 Club premises 30,000 Investments 
10,000 Furniture 6,250 Entrance fees are to be 
capitalised. Salaries outstanding on 31.12.07 were 
Rs. 200. Interest on investments accounted but not 
received as on 31.12.07 was Rs. 120. Depreciate 
furniture by 10%. 

 From the above particulars, prepare the Income 
and Expenditure Account for the period and 
Balance Sheet as at 31.12.2007. 
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i\®£º 31, 2007 AßÖ •iÁøh¢u 
BskPÐUPõÚ ö\ßøÚ ÂøÍ¯õmk PÇPzvß 
μ^x ©ØÖ® £n® ö\¾zxuÀ AÔUøP  
¤ßÁ¸©õÖ : 

ÁμÄ ¹. ö\»Ä ¹. 

xÁUP {ø» \©£[S 
(1.1.07) 

2,400 \®£Í® 5,700

~øÇÄ Pmhn® 500 ø©uõÚ ‰»® T¼ 2,400

\¢uõUPÒ 8,700 ÁõhøP 150

÷£õmiUPõÚ 
Á¸©õÚzvØPõÚ •øÓ 

 
1,500 

Aa]kuÀ ©ØÖ® 
u£õÀ ö\»Ä  

200

•u½kPÒ «uõÚ Ámi 500 £Êx 175

  CÖv{ø» \©£[S 4,975

 13,600  13,600

 ¤Ó uPÁÀPÒ : 

 \¢uõ ©ØÖ® öPõkUP¨£h÷Ási¯ \¢uõ 2006 
BskUPõÚ ¹.500 |h¨¦ Bsk ÷\P›UP¨£mhx. 
1.1.07 AßÖ ‰»uÚ {v ¹.49,000 CÀ EÒÍ 
•¢øu¯ BskPÐUPõÚ ©ØÓ ÷£÷μk C¸¨¦US 
ö£õ¸¢uUTi¯ ¹.150 Ai¨£øh £o¯õÍºPÎß 
Fv¯® Ah[S®. QÍ¨ ÁÍõPzvÀ ¹.30,000 
•u½kPÒ ¹.10,000 uÍÁõh[PÒ ¹.6,250 
~øÇÄU Pmhn® ‰»uÚ©õUP¨£k®. 31.12.07 
AßÖ {¾øÁ°À C¸¢u \®£Í® ¹.200, 31.12.07 
AßÖ PnUQh¨£mh BÚõÀ ö£Ó¨£hõu 
•u½kPÐUPõÚ Ámi ¹.120 BS®. uÍÁõh[PÒ 
10 \uÃu® ÷u´©õÚ©õÚ SøÓUP¨£mhÚ. 

 31.12.2007 ÷uv°ß£i Põ»® ©ØÖ® C¸¨¦ 
{ø»UPõÚ Á¸©õÚ® ©ØÖ® ö\»ÂÚU PnUøP 
÷©ØTÔ¯ ÂÁμ[PÎ¼¸¢x u¯õ›UPÄ®. 
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15. What are the difference between Hire Purchase 
and Installment Purchase? 

 ÁõhøP öPõÒ•uÀ ©ØÖ® uÁøn Áõ[SuÀ 
BQ¯ÁØÖUS Cøh÷¯ EÒÍ ÷ÁÖ£õk GßÚ? 

16. Ganesh book shows the following balances. 
Prepare his trading and profit and Loss Account 
for the year ended 31st March 1995 and Balance 
Sheet as on that date.  

Particulars Debit  Credit

 Rs.  Rs. 

Stock (1.4.94) 15,000 Sales 30,000

Purchases 13,000 Sundry creditors 2,000 

Carriage inwards 200 Capital 25,000

Salaries 5,000 Loan 3,000

Printing and stationary 800 

Drawings 1,700 

Sundry debtors 18,000 

Furniture 1,000 

Postage 750 

Interest 550 

Machinery 4,000 

  

 60,000 60,000
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 Adjustments: 

 (a) Depreciate Machinery by 10% and furniture 

by 5% 

 (b) Allow interest on capital at 5% 

 (c) Provide 5% for bad and doubtful debts on 

debtors 

 (d) Stock on 31.3.95 Rs. 12,000 

 P÷nè ¦zuP® ¤ßÁ¸® C¸¨¦PøÍU PõmkQÓx. 

©õºa 31, 1995 CÀ •iÁøh¢u BsiØPõÚ 

AÁμx ÁºzuP® ©ØÖ® »õ£ ©ØÖ® |èhU 

PnUøP u¯õ›zx ÷uv°ß£i C¸¨¦{ø»U SÔ¨¦  

 £ØÖ  ÁμÄ 

 ¹.  ¹. 

Bμ®£{ø» £[S (1.4.94)  15,000 ÂØ£øÚ 30,000

öPõÒ•uÀ 13,000 PhÜ¢÷uõº 2,000

Ási EÒyUQ T¼ 200 ‰»uÚ® 25,000

\®£Í® 5,000 Phß 3,000

Aa\P® ©ØÖ®   

GÊxö£õ¸Ò ö\»Ä 800 
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 £ØÖ  ÁμÄ 

 ¹.  ¹. 

£n® GkzuÀ 1,700 

PhÚõÎPÒ 18,000 

uÍÁõh[PÒ 1,000 

u£õÀ ö\»Ä 750 

Ámi 550 

C¯¢vμ® 4,000 

 60,000 60,000

 \›PmkuÀPÒ : 

 (A)  C¯¢vμ® «uõÚ ÷u´©õÚ® 10 \uÃu® 
©ØÖ® uÍÁõh[PÒ «uõÚ  5 \uÃu® 
÷u´©õÚ®. 

 (B) AÝ©vUP¨£mh ‰»uÚzvß «uõÚ Ámi  
5 \uÃu®. 

 (C) PhÚõÎPÒ «uõÚ \¢÷uPzvØS›¯ ÁμõU 
PhßPÐUS 5 \uÃu® ÁÇ[PÄ®. 

 (D) CÖv{ø» £[S 31.3.95 AßÖ ¹.12,000. 
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17. On 1st January, 1992, a company purchased  
Rs. 12,000 and on 30th June, 1993 it acquired 
additional machinery at a cost of Rs. 2,000. On  
31st March, 1994 one of the original machines 
which had cost of Rs. 500 was found to have 
become obsolete and was sold for Rs. 50. It was 
replaced on that date by a new machine costing 
Rs. 800. Depreciation to be provided at the rate of 
15 per cent per annum on the written down value. 
Show machinery Account for the first three years. 

 áÚÁ› 1, 1992 AßÖ {ÖÁÚ® ¹.12,000US 
Áõ[Q¯x ©ØÖ® áúß 30, 1993 AßÖ ¹.2,000 
ö\»ÂÀ TkuÀ C¯¢vμzøu Áõ[Q¯x. ©õºa 31, 
1994 AßÖ ¹.500 Âø» öPõsh A\À 
C¯¢vμ[PÎÀ JßÖ ÁÇUPØÖ ÷£õÚx 
Psk¤iUP¨£mk ¹.50US ÂØP¨£mhx. A¢uz 
÷uv°À J¸ ¦v¯ C¯¢vμ® Âø» ¹.800 ‰»® 
©õØÓ¨£mhx. GÊu¨£mh SøÓÁõÚ ©v¨¤À 
BskUS 15 \uÃu® GßÓ ÂQuzvÀ ÷u´©õÚ® 
ÁÇ[P¨£h ÷Ásk®. •uÀ ‰ßÖ BskPÐUS 
C¯¢vμU PnUøP PõmhÄ®. 

——––––––––– 



  

 

 

U.G. DEGREE EXAMINATION -  
FEBRUARY, 2023 

Commerce 

First Semester 

BUSINESS ECONOMICS 

Time : 3 hours Maximum marks : 70 

PART A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions in 
100 words. 

All questions carry equal marks. 

1. What is Business economics? 

 ÁoP ö£õ¸Íõuõμ® GßÓõÀ GßÚ? 

2. What are the isoquant map? 

 \© Áøμ£h[PÒ GßöÚßÚ? 

3. What is unitary elasticity of demand? 

 ÷uøÁ°ß JØÖø© ö|QÌa] GßÓõÀ GßÚ? 

 UG-CS-1136 BCOSE–11
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4. What are the essentials of a market? 

 \¢øu°ß Azv¯õÁ]¯[PÒ GßöÚßÚ? 

5. What is monetary policy? 

 £nÂ¯À öPõÒøP GßÓõÀ GßÚ? 

PART B — (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions in  
200 words. 

All questions carry equal marks. 

6. Explain Types of Utility. 

 £¯ß£õmiß ÁøPPøÍ ÂÍUSP.  

7. What are the limitations of break-even analysis? 

 \©{ø» £S¨£õ´Âß SøÓ£õkPÒ GßöÚßÚ? 

8. How will you choose a good forecasting method? 

 }[PÒ G¨£i J¸ |À» •ßPo¨¦ •øÓø¯ ÷uºÄ 
ö\´ÃºPÒ? 

9. Distinguish between perfect and imperfect 
competition. 

 \›¯õÚ ©ØÖ® SøÓPÒ EÒÍ ÷£õmiø¯ 
÷ÁÖ£kzxP. 

10. Explain National income concept. 

 ÷u]¯ Á¸©õÚ® Gß£uß P¸zøu ÂÍUSP.  
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PART C — (4 × 10 = 40 marks) 
Answer any FOUR questions out of five questions in  

500 words. 
All questions carry equal marks. 

11. Describe briefly the significance of business 
economics. 

 ÁoP ö£õ¸Íõuõμzvß •UQ¯zxÁzøu 
ÂÁ›UPÄ®. 

12. Briefly explain types of production. 
 EØ£zv ÁøPPøÍ _¸UP©õP ÂÍUSP.  

13. What is demand forecasting? Explain its types 
briefly. 

 ÷uøÁ •ßÚÔÂ¨¦ GßÓõÀ GßÚ? Auß 
ÁøPPøÍ ÂÁ›.  

14. Enumerate monopoly price discrimination. 
 •ØÖø© Âø» £õS£õmøh GÊxP. 

15. Describe the inequalities of income. 
 Á¸©õÚ HØÓ uõÌÄPøÍ ÂÁ›UP. 

16. “The demand curve generally slopes down from 
left to rights”. Validate the statement. 

 “÷uøÁ ÁøÍÄ ö£õxÁõP Chª¸¢x Á»©õP 
\›QÓx” C¢u AÔUøPø¯ \›£õºUP. 

17. Define BEP. Describe the methods of calculating 
BEP. 

 \©{ø» ¦ÒÎ Gß£øu Áøμ¯Ö. PnUQk® 
•øÓPøÍ ÂÁ›UPÄ®. 

—————— 
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FEBRUARY, 2023. 

Commerce 

Second Semester 

ADVANCED FINANCIAL ACCOUNTING 

Time : 3 hours Maximum marks : 70 

PART A — (3  3 = 9 marks) 

Answer any THREE questions out of Five questions in 

100 words. 

All questions carry equal marks. 

1. What is a ‘fire insurance claim’? 

2. Define a joint venture and give its various 

features. 
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3. Prepare a branch account for the following 
particulars: 

 Rs. 
Goods sent to branch 15,000 
Cash sent to branch for expenses 6,000 
Cash received from the branch 24,000 
Stock on 31st December 2300 

4. Explain the advantages of departmental 
accounting. 

5. State the rule laid down in Garner Vs. Murray 
case. 

PART B —  (3  7 = 21 marks) 

Answer any THREE questions out of Five questions in 
200 words. 

All questions carry equal marks. 

6. Calculate insurance claim from the following facts 
assuming that the insurers met their liability 
under the policy on ‘average basis’. A traders stock 
valued at Rs. 40,000 was totally destroyed. The 
stock in the godown, was insured for Rs. 30,000 
subject to average clause. The balance of stock, left 
after fire, appeared in the books at Rs. 24,000. 

7. Loyal Shoe Company opened a branch at Madras 
on 1.1.189. From the following particulars, 
prepare the Madras Branch account for the years 
1989 and 1990. 



 UG-CS-1137 3

 1989 

Rs. 

1990 

Rs. 

Goods sent to Madras 

Branch 

15,000 45,000 

Cash sent to Branch for:   

Rent 1,800 1,800 

Salaries 3,000 5,000 

Other expenses 1,200 1,600 

Cash received from the 

branch 

24,000 60,000 

Stock on 31st December 2,300 5,800 

Petty cash in hand on 

31st December 

40 30 

8. From the following prepare Departmental Trading 

A/c: 

 Purchases Opening stock Closing stock 

Dept A 1500 units 200 units 100 units 

B 1000 units 300 units 160 units 

C 2000 units 150 units 200 units 
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 Additional information: 

 (a) Purchase were made at a total cost  
Rs. 92,000 

(b) G.P. ratio is same in each case. 

 (c) Selling price per unit. 

 Rs. 

Dept A 20 

B 25 

C 30 

9. Write down the difference between consignment 

and joint venture. 

10. Soman and Nallan are partners sharing profits 

equally. They admit Kallan as partner for  

¼ share of profits. The firm’s goodwill is valued at 

Rs. 1,00,000. Kallan agreed to bring in cash  

Rs. 80,000 as his capital and only Rs. 15,000 

towards his share of goodwill. Pass journal entries 

assuming the capitals of the partners are fixed 

and the books of accounts on the date of Kallan’s 

admission show a goodwill of Rs. 40,000. 
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PART C — (4  10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 
500 words. 

All questions carry equal marks. 

11. A fire occurred in the premises of a company on 
15-10-97. From the following particulars, 
ascertain the loss of stock and prepare a claim for 
insurance: 
Particulars Rs. 
Stock on 1-1-96 30,600 
Purchases from 1-196 to 31-12-96 1,22,000 
Sales from 1-1-96 to 31-12-96 1,80,000 
Stock on 3 1-12-96 27,000 
Purchases from 1-1-97 to 15-10-97 1,47,000 
Sales from 1-1-97 to 15-10-97 1,50,000 

 The stock were always valued at 90% of cost. The 
stock saved from fire was worth Rs. 18,000. The 
amount of policy was Rs.63,000. There was an 
average clause in the policy. 

12. ABC Company invoiced goods to its Delhi branch 
at cost. The head office paid all the branch 
expenses from its bank except petty cash expenses 
which were paid by the branch. From the following 
details relating to the branch. Prepare. 

(a) Branch stock a/c  

(b)  Branch debtors a/c  
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(c)  Branch expenses a/c 

 (d)  Branch profit and loss a/c 
Particulars Rs. 

Stock (Opening) 21,000 

Debtors (opening) 37,800 

Petty cash (opening) 600 

Goods sent from head office 78,000 

Goods returned to head office 3,000 

Cash sales 52,500 

Advertisements 2,400 

Cash received from debtors 85,500 

Stock (closing) 19,500 

Allowances to customers 600 

Discount to customers 4,200 

Bad debts 1,800 

Goods returned by customers 
to branch 

1,500 

Salaries and wages 18,600 

Rent and rates 3,600 

Debtors (closing) 29,400 

Petty cash (closing) 300 

Credit sales 85,200 



 UG-CS-1137 7

13. A firm had two departments, cloth and ready 
made clothes. The ready made clothes were made 
by the firm itself out of cloth supplied by the cloth 
department at its usual selling price. From the 
following figures, Prepare departmental Trading 
and Profit and Loss Account for the year 2000. 

 Cloth 
Dept Rs. 

Readymade 
Dept Rs. 

Opening Stock on 
1.1.2000 

3,00,000 50,000 

Purchases 20,00,000 15,000 

Sales 22,00,000 4,50,000 

Transfer to Ready 
made dept. 

3,00,000 - 

Expenses: 
Manufacturing 
Selling 

 
– 

20,000 

 
60,000 

6,000 

Stock on 
31.12.2000 

2,00,000 60,000 

 The stock in the Ready —made clothes 
Department may be considered as consisting of 
75% cloth and 25% other expenses. The Cloth 
department earned gross profit at the rate of 15% 
in 1999. General Expenses of the business as a 
whole came to Rs. 1,10,000. 
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14. X and Y entered into Joint Venture to sell a 
consignment of timber sharing profits and losses 
equally. X provides timber from stock at mutually 
agreed value of Rs. 50,000. He pays expenses 
amounting to Rs. 2,500. Y incurs further expenses 
on cartage, storage and collieage of Rs. 6,500 and 
receives cash for sales Rs. 30,000. He also takes 
over goods to the value of Rs. 10,000 for his own 
use. At the close, X takes over the balance stock in 
hand which is valued at Rs. 11,000. Pass Journal 
Entries to record the above transactions and open 
the necessary ledger accounts in the books of  
X and Y. 

15. The following was the Balance Sheet of A, B and C 
who were equal partners on 31.12 .2012. 

Liabilities  Rs. Assets Rs. 

Capitals  Buildings 19,500 

A  16,800 Furniture 2,400 

B  12,600 Stock 11,400 

C  6,000 Debtors 10,800 

Creditors 6,000 Cash 600 

Bills payable 3300   

 44,700  44,700 

 They agreed to take D into partnership and give 
him ¼ share in the profits on the following terms: 

 (a) That D should brings Rs. 9,000 for goodwill 
and Rs. 15,000 as capital. 
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 (b) That ½ of good will shall be withdrawn by 
old partners. 

 (c) That stock and furniture depreciated by 
100% 

 (d) That a provision of 5 % on debtors be created 
for doubtful debts 

 (e) That a liability of Rs. 1,080 be created 
against bills discounted  

 (f) That the value of land and buildings having 
appreciated should be valued at Rs. 27,000. 

  Prepare revaluation account, Partner’s 
Capital Account and Revised Balance Sheet. 

16. The following information relates to Chennai 
Branch: 

Particulars Rs. Rs. 

Stock  11,200 

Branch debtors on 1.1.2021  63,300 

Goods sent to branch  51.000 

Cash sent for Branch for:   

Rent 1,500  

Salaries 3,000  

Petty cash 500 5,000 

Sales at branch   
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Cash 25,000 64,000 

Debtors 39,000  

Cash received from debtors   41,200 

Stock on 31.12.2021   13,600 

 Prepare branch account for the year 2021 

17. The following was the balance sheet of Radha, 
Krishna and Vishnu as on 31.12.2006. 
Liabilities Rs. Assets Rs. 

Creditors 12,000 Machinery 25,000 

General reserve 3,500 Stock 11,000 

Capital:  Debtors 9,500 

Radha 20,000 Goodwill 13,500 

Krishna 15,000 Cash 1,500 

Vishnu 10,000   

Total 60,500 Total 60,500 

 On the above data the firm was dissolved. The 
assets realized Rs. 50,000. The creditors were 
settled at Rs. 11,500. Dissolution expenses  
Rs. 1,000. The partners had 3:2:1 as their profit 
sharing ratio. Prepare Realisation account, 
Capital accounts and Cash account. 

——––––––––– 
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Second Semester 

BUSINESS COMMUNICATION 

Time : 3 hours Maximum marks : 70 

PART A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions in 
100 words. 

All questions carry equal marks. 

1. What are the elements of communication? 

2. What do you mean by Business Letters’? 

3. What is letter of enquiry? 

4. What is a bio-data? 

5. Write a note on Fax. 

 UG-CS-1138 BCOS–22
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PART B — (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions in 
200 words. 

All questions carry equal marks. 

6. State the requisites of effective communication. 

7. Outline the functions of a Collection letter. 

8. Explain the prerequisites of resume. 

9. Mention the characteristics of reports. 

10. Discuss the merits and demerits of websites. 

PART C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 
500 words. 

All questions carry equal marks. 

11. Discuss the barriers of communication in detail. 

12. Write a circular letter informing the admission of 
a new partner. 

13. Discuss the various types of Banking 
Correspondence. 
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14. What factors you will keep in mind, while drafting 
favorable and an unfavorable reply to a status 
enquiry? 

15. Draft a specimen copy of minutes of the annual 
general meeting of a company. 

16. Draft a Report on the bad financial position of the 
company and the measures to be taken to set right 
the position. 

17. Explain the defects of oral communication. 

  

–————— 
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ORGANISATIONAL  BEHAVIOUR 
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PART A — (3 × 3 = 9 marks)  

Answer any THREE questions out of five questions in 

100 words 

All questions carry equal marks 

1. State the nature of organizational Behaviour. 

 {ÖÁÚ |hzøu°ß ußø©PøÍ ÂÁ›. 

2. What is Organisational Conflict? 

 {ÖÁÚzvß P¸zx ÷ÁÖ£õk GßÓõÀ GßÚ? 

3. What is group dynamics? 

 SÊ C¯UPÂ¯À GßÓõÀ GßÚ? 
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4. What is Grapevine communication? 

 Grapevine communication GßÓõÀ GßÚ? 

5. State the objectives of group decision making. 

 SÊÁõP •iöÁkUS® ÷|õUP[PøÍ SÔ¨¤hÄ®. 

PART B — (3 × 7 = 21 marks)  

Answer any THREE questions out of Five questions in 
200 words. 

All questions carry equal marks. 

6. Mention the components of attitudes. 

 AqS•øÓ°ß TÖPøÍ SÔ¨¤hÄ®. 

7. Explain the Need Hierarchy theory. 

 ÷uøÁ£i {ø» ÷Põm£õmøh ÂÍUPÄ®. 

8. Compare X and Y theory of Motivation. 

 X ©ØÖ® Y ÷Põm£õmiß FUPzøu J¨¤kP. 

9. Explain the Behavioural theories of Leadership. 

 uø»ø©°ß |hzøu ÷Põm£õkPøÍ ÂÍUS[PÒ. 

10. Explain the stages of group formation. 

 SÊ E¸ÁõUPzvß {ø»PøÍ ÂÍUS[PÒ. 
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PART C — (4 × 10 = 40 marks)  

Answer any FOUR questions out of Seven questions in 
500 words. 

All questions carry equal marks. 

11. What do you understand by learning? Discuss the 
elements which form part of learning process. 

 PØÖöPõÒÁuß ‰»® }[PÒ GßÚ 
¦›¢xöPõÒQÓõºPÒ? PØÓÀ ö\¯À•øÓ°ß J¸ 
£Sv¯õP C¸US® TÖPøÍ £ØÔ ÂÁõvUPÄ®. 

12. Explain the perceptional process. What is its 
application in OB? 

 ¦»ÝnºÄ ö\¯À•øÓø¯ ÂÍUSP. OB&CÀ 
Auß £¯ß£õk GßÚ? 

13. Discuss the different types of organizational 
change. 

 £À÷ÁÖ ÁøP¯õÚ {ÖÁÚ ©õØÓ[PøÍ £ØÔ 
ÂÁõvUPÄ®. 

14. Discuss the different theories of group formation/ 
do they explain group formation phenomena fully? 

 SÊ E¸ÁõUPzvß £À÷ÁÖ ÷Põm£õkPøÍ £ØÔ 
ÂÁõvUPÄ® – AÁºPÒ SÊ E¸ÁõUS® 
{PÌÄPøÍ •Êø©¯õP ÂÍUPÄ®. 
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15. Explain Organizational Development (OD) and its 
techniques. 

 {ÖÁÚ ÁÍºa] (OD) ©ØÖ® Auß ~m£[PøÍ 
ÂÍUS[PÒ. 

16. What are the various sources of work stress? How 
do we deal with stress in the work place? 

 ÷Áø» £¾Âß £À÷ÁÖ Buõμ[PÒ GßÚ? 
£o°hzvÀ ©Ú AÊzuzøu GÆÁõÖ \©õÎ¨£x? 

17. What are the reasons for resistance to 
organizational change? How can you overcome 
them? Explain in detail. 

 {ÖÁÚ ©õØÓzøu Gvº£uØPõÚ Põμn[PÒ GßÚ? 
AÁºPøÍ G¨£i PhUP •i²®? Â›ÁõP 
ÂÍUPÄ®. 

–––––––––––– 


